
A2

The cat is hiding _________ the table.

Answer: ___________________

The bird is flying _________ the sky.

Answer: ___________________

The dog is playing _________ the park.

Answer: ___________________

The fish is swimming _________ the water.

Answer: ___________________

The snake is hiding _________ the rock.

Answer: ___________________

The horse is running _________ the field.

Answer: ___________________

The monkey is hanging _________ the tree.

Answer: ___________________

The rabbit is hiding _________ the bushes.

Answer: ___________________

The turtle is walking _________ the sand.

Answer: ___________________

The lion is sleeping _________ the cave.

Answer: ___________________



Answers

The cat is hiding _________ the table.

Answer: under

The bird is flying _________ the sky.

Answer: in

The dog is playing _________ the park.

Answer: in

The fish is swimming _________ the water.

Answer: in

The snake is hiding _________ the rock.

Answer: behind

The horse is running _________ the field.

Answer: across

The monkey is hanging _________ the tree.

Answer: from

The rabbit is hiding _________ the bushes.

Answer: among

The turtle is walking _________ the sand.

Answer: on

The lion is sleeping _________ the cave.

Answer: in


